Advanced Algebra: Unit 4.Ch5. Regression Lab (Quadratic)


The focus of many agricultural experiments is to study how the yield of a crop varies with the time at which it is harvested.  The variables are x = time between flowering and harvesting (days) and y = yield of paddy, a type of grain farmed in India (in kg per hectare).

	x
	16
	18
	20
	22
	24
	26
	28
	30
	32
	34
	36
	38
	40
	42
	44
	46

	y
	2508
	2518
	3304
	3423
	3057
	3190
	3500
	3883
	3823
	3646
	3708
	3333
	3517
	3214
	3103
	2776


a.  Make a scatterplot of the data and explain why this relationship between x and y would be considered quadratic and not linear. 

b.  Use the TI84 to find the equation of the best-fit quadratic.  The process is the same as for a linear relationship except that you are choosing option 5:QuadReg instead of option 4:LinReg when finding the equation.  Write the equation in standard form. (Do the substitution)

c.  What yield(s) does this quadratic predict for a time of 25 days between flowering and harvesting?  Show work.

d.  What time(s) would have a predicted yield of 2800 (kg/hec)?  Show work. 

e.  Use the Min/Max Function to find the vertex of this quadratic? State the vertex.

